




























2022 年 10 月，2023 年 4 月入学（October 2022 and April 2023 Admission） 
広島大学大学院先進理工系科学研究科博士課程前期（一般選抜）専門科目入学試験問題 

Graduate School of Advanced Science and Engineering（Master’s Course），Hiroshima University 
Entrance Examination Booklet (General Selection) 

（2022 年 8 月 25 日実施 / August 25, 2022） 

試験科目 
Subject 

機械工学（専門科目Ⅱ） 
Mechanical Engineering II  

プログラム
Program

機械工学 
Mechanical Engineering

受験番号 
Examinee’s Number 

M 
 あ 

6 

［問題用紙］ 

Ⅱ－３（流体力学）（Fluid Mechanics）〔2/2〕 

問題 2 （Question 2） 

 

Fig. 2 に⽰すように，質量密度1の流体①が質量密度2の流体②の上にある。
両流体ともに⾮圧縮性流体で静⽌している。この中に，質量密度S，半径Rの
剛体球が流体②の中にDの深さ沈んだ状態で流体中で静⽌している。ただし，
z軸は鉛直上向きであり，流体①と流体②の境界⾯は⽔平でz = 0の位置にある。
また，密度の関係は1 < s < 2である。重⼒は鉛直下向きに働いており，重⼒
加速度の⼤きさを|g | = gとする。以下の問いに答えよ。 

 

(a) ⼀様重⼒場での完全流体の運動⽅程式は次のとおりである。 

1
( ) p

t 


     

u

u u g .  

ここで，u，，p，gは流速ベクトル，質量密度，圧⼒，重⼒加速度ベクトルである。題意に沿って運動⽅程式を簡略する
ことで z⽅向の圧⼒分布p(z)を求めるために解くべき微分⽅程式を求めよ。 

(b) z = 0における流体の圧⼒をp0として，流体①と流体②の中の z⽅向の圧⼒分布p(z)をそれぞれ求めよ。 

(c) 流体①内の剛体球の体積をV1，流体②内の剛体球の体積を V2としたとき，剛体球にはたらく浮⼒の⼤きさFをV1，V2，
1，2，gの関数として求めよ。 

(d) 流体①内の剛体球の体積V1と流体②内の剛体球の体積V2をDとRの関数として求め，更に剛体球の密度sを1，2，D，
Rの関数として求めよ。 

 
 

As shown in Fig. 2, Fluid ① with the mass density of 1 is located above Fluid ② with the mass density of 2. Both the fluids are 

incompressible and at rest. In the fluids, a solid sphere with the mass density of s and the radius of R is at rest, where the solid sphere is soaked 

in Fluid ② to the depth of D. The z-axis is vertically upward, and the interface between Fluid ① and Fluid ② is horizontal and located at  

z = 0. The density relation between three materials is 1 < s < 2. The gravitational force works in the vertically downward direction and the 

magnitude of gravitational acceleration is |g | = g. Answer the following questions. 

 

(a) The equation of motion for a perfect fluid in a uniform gravitational field is 

1
( ) p

t 


     

u

u u g , 

where u, , p and g are the flow velocity vector, mass density, pressure of the fluid and gravitational acceleration vector. Derive the 

differential equation to be solved to obtain the pressure distribution in the fluids in the z-direction p(z) by simplifying the equation of 

motion using the given conditions.  

(b) Determine the pressure distribution in the z-axis direction p(z) in Fluid ① and Fluid ②, respectively, assuming that the fluid pressure is 

p0 at z = 0. 

(c) Show the magnitude of buoyancy force F acting on the solid sphere in terms of V1, V2, 1, 2 and g when the volumes of the solid sphere 

in Fluid ① and in Fluid ② are V1 and V2, respectively. 

(d) Find the volumes of the solid sphere in Fluid ① (V1) and in Fluid ② (V2) in terms of D and R, and then derive the formula expressing 

the density of the solid sphere s in terms of 1, 2, D and R. 
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Fig. 2 







(1-1) 

(a)凝固偏析：液体中で溶質原子が最初均一な状態であった事に対し、凝固に伴って溶質原子

が固相と液相に再分配される事で不均一な分布状態となること。  

(b) バーガース・ベクトル：転位線の周りに時計回りに 1 原子間距離ステップの連続で構成さ

れる回路を描く（：バーガース回路）。本回路に転位が含まれていると，その回路は閉じない。

本回路を完結するために必要な終点から始点に向かうベクトル。

(c)てこの法則：2 元系平衡状態図上で固・液共存域において、ある温度、平均組成での液相と

固相の質量分率の比は、平均組成を支点とし両端の固相と液相の組成に至る長さを腕の長さに

した天秤が釣合った時の質量比の関係で表される。

(d)臨界せん断応力：ある材料の決まった温度において、すべりを開始する決まった値の、せん

断応力

(e)活量係数：実在液体の Raoult あるいは Henry 法則からのズレの程度を表す係数

(1-2) 

配位数 Z fcc:12 bcc:8

単位胞に属する原子 N  fcc: N=8x(1/8)+6x(1/2)=4  bcc: N=8x(1/8)+1=2 

(充填率 fcc:0.741 bcc:0.68) 

  塑性すべりは最密原子面の最密原子方向で生じる。各格子（格子定数 a）で原子密度を考え

た時、fcc の方が高値である。したがって臨界剪断応力は fcc の方が小さい値を取るため、塑性

変形が容易である。  

(1-3) Ｆe-Ｃ系平衡状態図より、浸炭時の相はオ－ステナイト 

Ｔ＝1223Ｋを代入して、  

半無限遠拡散の解より、 

71-73minまでの値なら良い。 

（1-4）Fickの第2法則、 
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Ⅱ－１（機械材料）（Mechanical Materials）〔1/2〕
問題１（Question 1）

以下，解答例
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 ［解答用紙］ 

Ⅱ－１（機械材料）（Mechanical Materials）〔2/2〕  

【問題 2 解答欄】【Answer Sheet for Question 2】 

 

（1） 

領域，Region 相，Phase 

I オーステナイト（γ），austenite (γ) 

II オーステナイト（γ）+ フェライト（α），austenite (γ) + ferrite (α) 

III フェライト（α），ferrite (α) 

IV フェライト（α）+ セメンタイト（Fe3C），ferrite (α) + cementite (Fe3C) 

 
（2） 

1000℃での組織はオーステナイト単相（領域I）である。冷却していくとAr3変態温度（約850℃）より低い温度でオーステナ

イトからフェライトへの変態が始まり，組織はオーステナイト・フェライトの2相（混合）組織になる（領域II）。さらに温度が

低下すると，フェライト分率が高まり，Ar1 変態温度（727℃）より低い温度で残留しているオーステナイトがパーライト変態

し，組織はフェライト・パーライトの2相（混合）組織になる（領域IV）。 
 
The microstructure at 1000 °C is a single phase of austenite (region I). As the temperature decreases, the transformation from 
austenite to ferrite starts below the Ar3 transformation temperature (approx. 850 °C), resulting in a two-phase (mixed) 
austenite-ferrite microstructure (region II). As the temperature decreases further, the ferrite fraction increases, and the 
residual austenite transforms to pearlite at temperatures below the Ar1 transformation temperature (727°C), resulting in a 
two-phase (mixed) structure of ferrite-pearlite (region IV). 
 

（3） 

① C（炭素）， C (carbon) 

② オーステナイト， austenite 

③ フェライト， ferrite 

④ マルテンサイト， martensite 

 

 



M一般入試_機械工学 P_熱力学（2022年 8月実施分）略解 
 
熱力学 (Thermodynamics) 
2022年 8月実施の入試問題の略解 (Brief explanations of the entrance examination in August 2022) 
 
問題 1 (Question 1) 
(a)  

 
(b) 理想気体の等エントロピー関係式を使い， 1.4 1

2 350 11 913 KT ， 1.4
2 0.1 11 2.87 MPap 。 

Using the isentropic relations of an ideal gas, 1.4 1
2 350 11 913 KT  and 1.4

2 0.1 11 2.87 MPap . 

(c) 第一法則を使い， 2 1 2 1
0.287 404 kJ
1.4 1

c T T T T 。 

Using the first law, 2 1 2 1
0.287 404 kJ
1.4 1

c T T T T . 

(d) 定容加熱過程だから， 3 2 2
800 1.4 1 2030 K

0.287
qT T T
c

。 

理想気体の状態方程式を使い， 3 3 3
3 2

3 2 2

6.37 MPaRT RT Tp p
T

。 

Because of the isochoric heating process, 3 2 2
800 1.4 1 2030 K

0.287
qT T T
c

. 

Using the equation of state of an ideal gas, 3 3 3
3 2

3 2 2

6.37 MPaRT RT Tp p
T

. 

(e) 3

2

3 3
23

2 2

d 0.287ln ln 0.572 kJ K kg
1 1.4 1

T

T

c T R T Ts
T T T

。 

 
問題 2 (Question 2) 

(a) 関係式 G L
rs s
T
と G L G

RT
p
を使い， G L

2
G L

d
d

p s s r p
T R T

。 

Using the relations of G L
rs s
T

 and G L G
RT
p

, G L
2

G L

d
d

p s s r p
T R T

. 

(b) 
b b

2 2
b b

d d d 1 1ln
d

p T

p T

p r p p r T p r
T R T p R T p R T T

。 

(c) b
b

1 1 2257 1 1exp 101 exp 3.73 kPa
0.4615 298 373

rp p
R T T

。 

 
以上 



M一般入試_機械工学 P_流体力学（2022年 8月実施分）略解 
 
流体力学 (Fluid Mechanics) 
2022年 8月実施の入試問題の略解 (Brief explanations of the entrance examination in August 2022) 
 
問題 1 (Question 1) 

(a) 1 2
1

0.603 m s
2

Q
d

， 2 2
2

2.83 m s
2

Q
d

。 

(b) ベルヌーイの式を使い， 2 2
1 a 2 1 104 kPa

2
p p 。 

Using the Bernoulli’s equation, 2 2
1 a 2 1 104 kPa

2
p p . 

(c) x軸方向の運動量保存則より，
2 2

2 21 2
1 1 a 2cos 60 38.4 kN

2 2x
d dF p p 。 

y軸方向の運動量保存則より，
2

2 2
a 2sin 60 6.61 kN

2y
dF p 。 

From the momentum conservation in the x  direction, 
2 2

2 21 2
1 1 a 2cos 60 38.4 kN

2 2x
d dF p p . 

From the momentum conservation in the y  direction, 
2

2 2
a 2sin 60 6.61 kN

2y
dF p . 

(d) 2 2 39.0 kNx yF F FF ， 1Tan 0.171 rad 9.77y

x

F
F

。 

 
問題 2 (Question 2) 

(a) 流速が 0なので 10 p g であり，gは z方向だから， d
d
p
z

g。 

Because the fluid is at rest, 10 p g . Further, g  is in the z  direction, d
d
p
z

g . 

(b) d
d
p
z

gの解は 0p p zg だから，流体①中では 0 10p z p zg であり，流体②中では

0 20p z p zg である。 

Because the solution of d
d
p
z

g   is 0p p zg  , 0 10p z p zg   in the fluid ① , and 

0 20p z p zg  in the fluid ②. 
(c) 1 1 2 2F V Vg g 。 

(d) 2 2 2
2 d 3

3
D R

R
V R z z R D D ， 23

1 2
4 2
3 3

V R V D R D R 。 

3
1 1 2 2 s

4
3

V V Rg g g だから，

2 2
1 2

s 3

2 3
4

D R D R R D D
R

。 

3
1 1 2 2 s

4
3

V V Rg g g . Therefore, 
2 2

1 2
s 3

2 3
4

D R D R R D D
R

. 

 
以上 




